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Volcanoes with quiet eruptions are knowm as

(1) Hawaiian type (2) Strombolian type
q (3) Vulcanian type | (4) Pelean type
% (1) &= g™ 2) wrEE g
(3) FHH g 4) T ge
: ‘ 2 The percentage of oxygen, nitrogen and carbon-di-oxide in the atmospheric

composition is respectively

1)y 78, 21, 0.03 N (@) 21, 78, 0.03
(3) 78, 0.03, 21 - 4 21, 0.03, 78
TYAS & HRH H TN, TEASN ¥ SET-SE-NEEES & URE
| Tar ¥, wAN
| (1) 78, 21, 0.03 @ 21, 78, 0.03
(3) 78, 0.03, 21 (4 21, 0.03, 78

3 Which among the following is not a metamorphic rock ?
(1) Marble (2) Granite
(3) Quartzite ' (4) Schist
Frfafles ¥ & v euala weew W ¥ 2
(1) R 2 FEe
(3) g 4 fire
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4  Match the following and sefect answer using code given below :

(A) Seif ()  Glacial erosion
B) Giant staircase (@ Wind deposition
(©) Estuaries (iii) River erosion
(D) Stone Lettice . (iv) Wind erosion
Code :

@ ® © o
M @ @) Gy gy
@ @ O @ G
® @™ Gi) @ )
@ G O @ gy

: ]
@ b ® B o f
®) ¥EeR G (i) 9 fray /
© T (i) & erqea
®) weR_R R (V) v etavaw
o |

4 ® © o
M O @ i (iv)
2 (i) @ (i) (iv).
@) (v Gi)) @ (ii)
@ G 6 g (iv)
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Which minor plate is situated between Middle America and Pacific
Oceanic plate 7

(1) Scotia (2) Caribbean
(3) Nasca (4) Cocos

wmﬁmﬁhw@usmﬁmﬁuﬁz%aﬁaﬁﬁt&ﬁg%z
Raa ¥ 7

(1) wifrn (2) s
(3) o 4) @y

6  The correct group of wind erosional landforms is
5o (1) Esker, Yardang, Loess

: (2) Loess, Sanddunes, Lapies

() Demoiselles, Mushroom rocks, Yardang

(4) Barchan, Demoiselles, Tombolo

AP AT APl W o wE ¥ o
(1) U=, arsi, Wiaw

(2) w99, SWH wE, A9

() o4, wESREI, -qE

@) TEM, TR, g

7 St. Paul Ridge is situated in

(1) Atlantic Ocean (2) Indian Ocean
(3) Pacific Ocean (4) Mediterrancan Sea
(1) oewes qemm 2 f= wER A
() W WEPR | (@) e G
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8  The correct decreasing order of salts in the oceans is

(1) Calcium carbonate, Sodium Chloride, Calcium sulphate, Magnesium
Chloride

(2} Magnesium chloride, Magnesium Sulphate, Calcium Car'bonate,
~ Potassium Sulphate

(3)  Sodium Chioride, Magnesium Chioride, Magnesium Sulphate, Calcium
Sulphate

(4)  Sodium Chioride, Magnesium Sulphate, Magnesium Chioride, Calcium
Sulphate : '

mﬁamﬁﬁ.aauﬁmraé’razmm%:

(M) St waite, i e, daf w, e T
@) FfmEw wgs, AR e, Sl e, WRE TR
G) wifsam FRws, e wkne, TR e, SEE e
) A wes, A e, A T, SR e

9 In which oceanic currents, the seasonal reversal is found ?

(1) North Indian Ocean

(2) South Indian Ocean
(3) North Atlantic Qcean

- (4) South Pacific Ocean

@) = orwifts wEmEER
@) zflt vy wEEER
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Who had propounded the dynamical theory of origin of Ocean tides ?
(1) Harris (2) Airy
(3) Whewell (4) Laplace

e B s wad TR e fhey whwi R ?

(1) @
1 @) @& @) e
11  The short radio waves are reflected from which of the Ionospheric 1ayer ? |
1 (1) D-Layer C (2) E-Layer
: (3) F-Layer S s (4) G-Layer

ETveE & hE TE Y W @ g o ekl @) ¥ 2
1) @ @) %@

(3) THE-TA | @ s - 1@

12 Fossils of plants, animals and other microorganisms are related to
(1) Igneous rocks (2) Metamorphic rocks
(3) Sedimentary rocks (4) Plutonic rocks

i, segel T o gEstra ¥ oEdY gEteE ¥

(1) arE TN (2) BUNERG 9N
(@) e wZH - (@) Feec w@
DA41 A] | 7 [ Contd...
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13

14

15

The portion of solar radiation energy reflected back from the surface ot
object is called

(1) Absorption (2) Scattering
(3) Diffusion . (4) Albedo

o g B T T G A e Sl B R A e e
¥, weewl ¥ oo

(1) sEgiw | (2) SR

(3) TrEw | (4) wawar

Which of the following evidences does not provide clue of the earth's
interior ? |

(1) Density of rocks (2) Temperature
(3) Seismology ' (4) Secondary forms of vulcanism

fret ool ¥ Y - T gel & oA} & WX # I e
el

(1) & = T (2) T

(3) Wf«’ﬂﬁ (4) vagEl Rear & v w@ew

The discontinuity between crust and mantle is :

(1) Repetti (2) Moho

- (3) Gutenberg (4) Transitional

qRE a9 AU ¥ 9o fgq ewiad ¥
(1) W& @ W&
(3) T 4)
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&
# - 16  The sharp-edge ridge formed by glacial erosion is called

" o . (1) Nunatak (2) Eskar
(3) Arete (4) Kame
frdia st o fifife o9 ey T §e wewan §
() The® (2) YgHeH
() g @ Im

“‘ 17 Zeugens are the result of :

(1) Wind erosion {(2) Wind deposition
(3) Glacial deposition (4) Glacial erosion

o fraer aRom @ ¥, @8 ¥ ¢
(1) waET SWET (2) wa= fHay

(3) Rt Py (4) Teurlt oroRe

18  The earthquake waves analogous to light waves are
(1) P-waves | (2) S-waves
(3) L-waves (4) S and L-waves
THIRT B T & P aear e aa ¥ o
(1) Pl (2) S-adt

(3) L-a (@) S 9 L@t
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19 Which one of the following area is not a mediterranean climatic regié,
of the world ? '

(1) Central Chile
(2) Southern part of South Afiica
(3) [Eastern Europe

(4) California State

friefies A & @9 @ & Ry & qEeEEEdY Say W@y ¥ ?
(1) w= T

(2) <ol aflewr w1 RN s

3 o T

@) Hiwta

20 On the basis of chemical composition, the atmosphere is divided into
two broad zones :

() Homospheré and Heterosphere
(2) Heterosphere and Thermosphere
(3) Chemosphere and Heterosphere

(4) Homosphere and Thermosphere

Wwﬁwwwﬁﬁmmﬂﬁwﬁﬂﬁm
™%

(1) wvss gd  frwmesd
(2) Twrwsw od qEsd
(3) wETvew wE {qwmesd

(4) TEE T qIHSH
DA41_A] 10 [ Contd...




21

22

23

Indian standard longitude passes through how many Indian states ?
1 5 2 6

3 7 4 8
WW%MW%WM%W% ?

1 5 | 2 6

3) 7 | @ 8

. Belt consisting of old alluvial deposits to the south of Tarai is known as

(1) Khadar (2) Bhabhar

(3) Bhangar (4) Doab
m‘%ﬁmﬁwﬂﬁwﬁﬁﬁaﬁ@mwﬁ%—
m e .'(.2) T

@) W @) o

Garo-Khasi-Jayantiya hills are the part of :

(1) Great Himalaya - (2) Deccan Plateau

3) Siwalik @) Arakanyoma Mountain
My vEta e feww W R 7

() W faw (2) @& SR

@) frafes (4) SCHEEE TE
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24 In India, which of the following soil group covers maximum area ?

(1) Aridisols (2) Mollisols

(3) Entisols @) Inceptisols

e ¥ AW F gl B O gt g W TR SRl ¥ 7
(1) TG @) v

(3) udE @) e

95  States in the descreasing order of the density of population (2011) are :
. ' (1) West Bengal, UP.,, Kerala, Bihar
(2) | U.P, Bihar, West Bengal, Kerala_
(3) West Bengal, Bihar, Kerala, U.PpP.
(4) Bihar, West Bengal, Kerala, UP.
SAEEn % uad (2011) ¥ e ®mH F WA ¥
(1) wRel @, g F, R
@) 7d. faEw, el ™, FW
3) whed dww, fER, FW, 4@
@) fer, wRwh dnw, Fw, A o o

26 In India the female population decadal growth rate during 2001-2011 was

(1) 17.64 percent (2) 18.12 percent’

(3) 21.44 percent (4) 23.18 percent
. g ¥ 2001-2011 § Afeen SEEEN @R 3R X W ¥ -
(1) 17.64 wiied (2) 18.12 wag™
@) 21.44 wRw @) 23.18 whww
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Which of the following passes connects the Kullu to Lahul and Spiti
valleys ?

(1) Bomdila pass (2) Debsa pass
(3) Rohtang pass (4) Niti pass

Prfeflar & @ @ @ 1 gog ® aew o} fafr =@ A sigan ¥ ?

B (1 Wi = @ e =
LS | @) e <d @ R
;;. 28 Which one of tﬁe following is not correctly matched ?
Iron and Steel Centre State
(i) Rourkela - Odisha
(2) Barnpur - West Bengal
(3) Vijaynagar - Kamataka
(4) Dolvi - - Jharkhand

Pt 3 @ @ W Tw g TE E 2

@) e - HEe
ll DA41_A] 13 [ Contd...
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29 India's territorial limit extends towards sea is up to :
(1) 12 km (2) 128 km
() 219 km (4) 157 km
TE B WG ARG @ & @ oW frar o
(1) 12 P | (2) 12.8 fomimiex
() 219 R 4) -15.7 frateT

30 Which is the state having the largest area under Maize in India during

2011-12 7

(1) Madhya Pradesh (2) Kamataka

(3) Andhra Pradesh (4) Rajasthan

af 2011-12 ¥ WRE ¥ S T TR F ewr gaits A
@ 7

(1) = W Q) weH

(3) SR Wy (4) TTEH

31 Laterite soil is not found in

(1) Karnataka (2) Madhya Pradesh
.(3) Tamil Nadu (4)- Uttar Pradesh
B I 2

(1) wiew @) W

@) dfmmg (4 T WY

DA41L_A] 14 | [ Contd...




32

33

34

Climate of India belongs broadly to

(1)  Sub-Tropical ) Dry

(3) Tropit;aj Monsoon (4)  Sub-humid
RUCHET G s TRt

(1) wor SR @) I=%

(3) RS @) wus

Teak is the main species of which of the following Indian forests 2

(1) Dry deciduous forests (2) Moist deciduous forests
(3) Tropical thorny forests (4) Montane forest
Hmaﬁﬁﬁﬁﬂf@amﬂtraﬂ’fﬁf@rmwaﬁmﬁm% ?
(1) o whd @) o whed

(B) W IR a9 : (4) wig @

Which pair of the states of India reflects the lowest and the highest
sex-ratio respectively in 2011 ?

(1) Haryana and Kerala (2) Jammu Kashmir and Kerala

(3) Jharkhand and Maharashtra (4) Haryana and Madhya Pradesh

2011&W¥Wa'aﬁwmmﬁmwmmw
wr ¥ 7 |

(D) sfEn T ¥ww (2) -5 9 H

() FRE= T W : @ zfaon ¥ wer gy
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35 Match the following ang select answer using code given below :

(A) Balaghat (1 Bauxite
(B) Bellary (i) Coal

(©) Katni (ii}) Manganege
(D) Singaren; | (iv) Iron Ore
Code : |

@ ® © @
M Gv) (i) @ (i)
@ @ O G @
@) G Gi) vy g
@ Gi) Gv) G )

(A) ImmEE () Slege
® I (i) e
©) == (i) ﬂ'ﬁ:ﬂa
(D) Ryl (v) dE oy
FE :

@ ® © o
@ @ G @ (iif)
@ @ G0 v (iii)
G) () GiD) (v) @
@ @) vy @ (if)

DA41___A 1 16 [ Contd...




37

38

Which region is more vulnerable to landslide in India ?

(1) Lesser Himalaya (2) Shivalik

(3) Greater Himalayas (4) Eastern and Western Ghats
qEed W e ¥ IR @ B W & offv daeiw ¥ 7

(1) wg fm (2 )
(3) wer e @) gdf ot ol =W

In Indian Monsoon E! Nino probabiy causes

(1) Delay and weakening

(2) Delay and stfengthening

(3) Early arrival and early withdrawal

(4) Early arrival | o |
ol & e vl A ¥ wwE At ki
(1) T 3 ffew |

(2) faw= ¥ SoaEd

@) w owrw T stw Frads

(4) 9w AEEE

Frivims

Human geography is the study of "the changing relationships between the
unresting man and the unstable earth" this definition was given by

(1) Ratzel - (2) Blache
(3) Semple | (4) Huntington

CISCIC G Wqﬁﬁﬁmaﬂaw%ﬁaw&aﬁqﬁamw
sema ¥ g oiww B & e ¥

(1) =« @) s
(3) =@ (4) wfémen
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40

41

The highest populated . country -of Africa is

(1) Nigeria @ Egypt
(3) South Aﬁiga (4) Chad
sfhe B waifm SEET @ 39 %

(1) i ) fax
(3) =fawr arfme @ ==

‘Which one of the following is not a part of the measurement of humap
development index ?

(1) Education (2) Sex ratio
G) Health () Access to resources
ﬁwﬁfﬁgﬁ@ﬁmwwﬁmw%wwmaﬁ?
(1) forem | @) g

G) @ @ WO T e

Retail trade is which type of economic activity ?

(1) Tertiary () Primary
(3) Secondary (4)  Quarternary
IO AR R A onfie Ry ¢ o7

(1) gfs 2 Wl
(3 fadow @ gds
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42 The busiest oceanic route for international. trade js
(1)  Suez Canal Route
(2) Panama Canal Route
(3) South Pacific Oceanic Route
(4) North Atlantic Oceanic Route
A =R @y TETA HEEET ARt ¢
(1) @& Wy wpf
(2) WP TRY uwEt
@) = e ey

ﬁ @ w98 oy wemrly At

. 43  Who says “"Geography is human ecology" 7

“ (1) Ritter (2) Humboldt

j} (3) Barrows (4) Ratzel
1) f=x | @) wwEiee
@) e . @

44 If the scale is 4.2 cm equals to 21 km, then the RF is :

) 1 : 200,000 @ 1: 500,000
3) 1: 420,000 @ 1: 210,000
uf&mqmzi.zﬁwzlm%, a SEE wedfw P B
(1) 1 : 200,000 @) 1 : 500,000
3) 1 : 420,000 @) 1 : 210,000
DA4LA] 19 | [ Contd...
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46

47

Which of the following statistical distribution has the same value of mean,
median and mode ?

(1) Normal Curve (2) Poisson Curve

(3) Binomial Curve (4) Lorenz Curve
mmmﬁw,mﬁwmww% ?
(1) 9= 9% (2) dlsET O

3) T = ' (4) WS 9%

What is shown correctly on an Azimuthal projection ?

(1) Directions (2) Shapes

(3) Areas (4 Distances

e whmgae (i) wav & &W oW por v welkr fear wew &7
) fem @ o

(3) & @) i

If RF. of a map is 1 : 60,000, then 1 cm represents -

(1) 60 m 9} I600 m

(3) 3000 m (4) 6000 m

ofe feedt =AMt &1 RE 1 : 60,000 %, o s . wehfa =% ¢
(1) 60 X () 600 X

(3) 3000 HRX (4) 6000 Mex
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48  Variance is the
(1) Square of correlation
(2) Square of Standard Deviation
(3) Square root of correlation

(4) Square root of Standard Deviation

T BT AN R E
) TEQY B T

(2) WY T @ ot
(3) wWeEmY @ FYW

(4) v e & wim

49  Which one of the following projections shows 90° North latitude in
true form ?

(1) Bonne's Projection

(2) Cylindrical Equal Area Projection
(3) Mercator Projection

(4) Sinusoidal Projection

frfefan waw & ¥ foed 900 Sl wwEiw g ww F yalfa Rea
SR 7

() 9 98

(2) AT GEEN WAy
(3) WHT waY

(@ fTugarsw wdu
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I o @ ¥

G) r 4 ef
wmﬁmﬁmma{@ﬁr%ﬁwﬁ?ﬁ% Cia
M o @ ¥

Gy f @ ef

81  If the speed of earth's rotation is doubled, then the delay in the occurrence

(1} 104 minutes (2) 13 minutes

() 52 minutes (4) 26 minutes

52 Who had said that "India has a1 types of climates of the world" ¢
(1) Koppen (2) Marsden

(3) Stamp (4)  Thornthwaite

DA41 A j 2 ' { Contd..,




54

55

Falkland current flows in which of the following ocean ?

(1) Indian (2) Arctic

(3) Atlantic (4) Pacific
wrEavE qRt fee wewER ¥ oet ¥ °

1 f= Q) eERw
(3) erEtes @) T

India has longest international boundary with

(1) China (2) Pakistan

(3) Myanmar (4) Bangladesh
aRd fhad we g el smis W vaa ¥ 7
(1 9= 2) wilee

(3) =ER (4) <R

The Nile river delta is the best example of
(1) Bird foot delta (2) Arcuate delta

(3) Estuarine delta (4) Truncated delta
I 7 @ v agd IR SRR ¥

(1) do 3w (2) TUBR e
(3) “EARTEE S @) wfea I

DA41 A} 23
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56 The process through which isostatic equilibrium restorted is called
(1) Isostatic adjustment (2) Isostatic balance ‘
: (3) Isostatic movement (4) Isostatic pressure
YUYET qeadT YAt meia whedr weeny ¥ o
(1) Y -46gFF & () SEgET g
(3) -Ege () ¥ =
57 Which one of the following is not an endogenetic force ?
(1) Epeirogenetic 2) Orogenetic
(3) Denudation "~ (4) Diastrophic
frfifas & @ o @ % amwia W@ ¥ 7
(1) weEdm Pmiufean 2) v P
(3) emresTE (4 e fyeuw
-58 - Advectional inversion of temperature occurs due to
(1) Ascending of warm airmass over cold airmass
.(2) Desending of cold air |
(3) Convectional movement of warm air
4) Atmospheric turbulence
| aftret arie R SoE BN @ e ¥
(1) S agYs @ ofiee 9Uysl & SuX gl
(2) & g = R saen |
(3) TW 9g & Gawtw
(@) urgvsdia faeis
. DAMLA] 24
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60

61

What causes high pressure in the sub-tropical zone ?

(1) High temperature @) I’,o.w température
(3) Air divergence (4) Air subsidenc‘:e
T g qGgIE B F DR & ?

(1) = amEr | () = T

@) g = faga g @) Y SEaE

The Koppen's- climatic classification scheme Cs indicates

(1) Mediterranean climate (2) Hot desert climate
(3) Equgtorial climate “) .China type climate
BT & wEary FieE g § Cs Fiide & ¥ o

(1) e qrde ey 2) o weEAT SEy

() yEEE wEay @) ¥ g wag

Thorawait's climatic classification given in 1948 was based on

(1) Thermal efficiency ratio (2) Potential evapotranspiration
(3) Average temperature (4) Average rainfall

are & 1948ﬁfﬁmwmmiga1ﬁmﬂrmm&am:.

(1) o <gar T 9 (2) TWE T 1T

(3) ofEd qUuE W @) ofaa auwl «
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62. Kwajalien is ) S
(1) An atoll in the Atlantic Ocean
(2) An atoll in the Pacific Ocean
. (3) A barrier reef in the Indian Ocean
(4) A fiinging reef in the Indian Ocean
ESiticici 2 |
(1) oreeites wemmR § ww@g fufy
(2) vy WEETR N Swg R
() R mewrm § sedus W R
@) f= wewmt § agadw iy

63  Which one of the following is not an organic ocean deposit ?

(1) Peteropod Qoze (2) Globigerina Qoze
(3) Red Clay 4) Diatom Ooze
Prafefed ¥ ¥ @7 @ o e ety PEe W T ¢
1) e v @) RS vE
() ww i @) s U

64  The Glacial Control Theory of the origin of Coral reefs was
propounded by

(1) RA. Daly (2) Charls Darwin

(3) Sir John Murray (4) WM. Davis

A B SR & e Priswr Rigrd @ wRee Rray Rear e 7
(1) or. u W (2) I s

() W wW gt (4) ==, .
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| 65  Assertion (A) - Westerlies are Stronger in the northern hemisphere than
in the southern hemisphere

Reason (R) -  Northern hemisphere has

more land area than the southern
hemisphere

(1) Both (A) and (R) are trye and (R) is the correct €

Xplanation of (A)
(2) Both (A) and (R) are trye but (R) is not a correct explanation
of (A)

(3) (A is false but R) is true

4 (A) is true byt (R) is false

BT (A) - ugaw war¥ =y e
P

B T I F orfiyg
F iR eer ¥

9’% TR ®) - ST Rt X R o A ot s v

o & %)

Q)eq M (A)eﬂr(R)ﬁﬁw%,qﬁ(R)(A)a%Hawm%r

)%@ @) (A)GﬂT(R)ah’rm%,ﬁm(R)(A)a%aamqa%.
" G) () s ¥ A ®) w3

76 - d- @A) w % T R) awe ¥

e,,%% 66  Foundation of Humag Geography was written by

& - |

(1) G Taylor (2) La-Blache

(3) M. Sorre '(4)  Jean Brunhes

w%awmww‘fm%%ﬁw&:

(1) s ¥y 2) @ sy
) wm. ui @) s gy
DA41_A]
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67 Who had first used the word Possiblism’ ?
(1) Febvere . {2) Blache

(3) Brunhes (4) Carl Sauer
I = BT AT 99 yuq feen e ¢
(1) % - (2) =g
G) I3 4) =™ FEY

68 The first philosopher of. deterministic thought was

(1) Thales @) Strabo
(3) Hecataeus | " () Eratosthencs
e R @1 wew Rems o

1 o= Q) =

¢) Rdfaw @) v

69  Which of the following is not a correct match ?

(1) Bowman - Possibilism

(2) Humboldt Environmentalism

Determinism

(3) Demangeon -
(4} G Taylor - Neo-determinism
trfofes & & @ @ gt e & b ¢
(1) <= - VIR

@ - i

@) Rt . FrfeEw

4) o I - ataiEe
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(1) Religious (2) Overpopulation
(3) Political (4) Economic
WA ¥ SRS @ S B ger wRe §

(1) wmife (2) SFIRE

() et (4) eﬂf%fa;

71 "Zones and Strata theory" of distribution of human races was
propounded by .

(1) Huntirigton (2) Taylor
(3) Saur . (4) Trewartha

wﬁwﬁzﬁ%ﬁfﬁmw“ﬁﬁwmmfﬁm“mﬁﬁmﬁ
e fopar a1 @

() =z ) T
(3) W= @) feami

72 Which is not an economic cause of the migration of population ?

(1)  Unemployment

(2) Heavy pressure on the land resources

(3) Economic poverty

{33 Overpopulation

SRS R T w w aiffe s W ¥ ?
(1) el

() 9iET W oerale T e

(3) enidE T

@ e
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73

74

75

Which one of the following area is of mongoloid race ?

(1) Northern Africa (2) Pacific Island

(3) Eastern Europe (4) Australia

frafafaa & ¥ =9 @ e &9 AiMERs TG @ E 7
(1) <l omdlEr (2) W WEEIA B9

@) o e @ omefwn

The coniferous forests in Europe is also known as

(1) Selva (2) Taiga
(@) Veld (4 Downs
AT F {PHEN a7 HEAld § °

(1) e @) Tm
() = 4) s

The agricultural region not classified separately by Whittlesey
(1) Nomadic herding region

(2) Dry farming region

(3) Mediterranean agricultural region

(4) Specialized horticulture region

St P iy Rfewfr ¥ o & Tliga & fm @, @ R
(1) GEaE UERO qL9

(2 = FW WR&y

() W Wl B wee

(@) Tt v Bt Wi

DA41_A] | 30
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In world, Japan is the leading industrial country -because -
(1) It has high technology capacity,

(2) Industral revolution was originated in Japan.

(3) It has plenty of bio-fuel resource.

(4) It has plenty of mineral resources.

Wﬁaawmaﬂ%ﬁﬁmwww%,ﬁ&

o () 9% W Se Tt aman 3
| (2) =t ol wifr &1 W gom
(3)@%@%%&#@6@@%1

(4) SUE 9 WYX wE1 ¥ Wi geee L)

77  Which one of the following is not correctly matched ?
(1) New England Industrial Region - USA

(2) Rhine Industrial Region - France

(3) Yorkshire Industrial Region _ United Kingdom
(4) Nagoya Industrial Region - Japan

Prfefen § 4 wver w8 gt w8 37

(1) qgivs ofrenfis war - HgR o el
2) e eleifiee waa S
() IR oheifer wist - Fe fi3m
(4) i eiefie wew . wWE
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78 Match the following :

(A) Chuquicamata

(B) Kirkuk

(C) Nsuta

(D) Itabira

Code :

» ® ©

1 G v O
@ Gv) () G
@) (i) @ )
@ @) @i O
gife B

(A) GBI
®) Trgs

(C) T

©) TR

=

@» ® ©

M Gi) @ O
2) (@(v) () (iii)
@) (i) @) )
@ @) @) 0

DA41_A]

32

(i) iron ore
(ii) mineral oil
(iit) Copper

(iv) Maganese

(i) W€ I
(i) w@fer 3w
(ii) afa |

Gv) i
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Ay
4

j/ 79 Match list I with List IT and select the correct answer using the codes
/ given below :

7 List 1 List I
/ (City) (Industry)
i (A) Pittsburg (i) Motor vehicle
(B) Detroit ' (i) Iron and Steel
(C) Hamburg (iif) Textile Industry
(D) Osaka (iv) Ship building
Code :

A ® © O
D (v @) @@ (i)
@ () di) @ (v
G) ) O G (i)
@ @ @G (i) (iv)
@Iﬁ@'ﬂ%@%ﬁ%&ﬁﬂ?ﬁ&ﬂ&@?%wwgﬁﬁ:

LSUB T

(TR) (<)
(A) Rrzget @) Rz mivaf
® wwe () e o g
©) =t (i) =@ wER
©) i (v) @ ffor

fu" :
A B © O
M G G G G
@ G) Gi) @ ()
@) G) @ Gv) (i)
@ @ G i) Gv)
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80 Which one of the following is not an agricultural region of the :world:"*l_

81

82

(1) Commercial grain farming region
(2) Plantation agriculture region
(3) Intensive subsistance agriculture region

(4) Irrigated intensive agriculture region
ﬁmﬁﬁaﬁﬁaﬂﬁmwﬁr&aaﬁﬁu&wﬂﬁ%?
() =aufis ST S @

(2) U BN wRy

() W= {aiEs B W

@ Rfaa wa s ww

Who defines geography as a science of synthesis ?

(1) Acherman (2) P. Haggett
(3) David Harvey (4) Hartshorne
‘e ww g e ¥ ouw feey ofaa Rewn?
(1) THEH () W ¥

3) 3hs =@ (4) R TR

Carl Saur given his important contribution in which branch of geography ?

(1) Oceanography (2) Cultural geography

@) Political geography 4) Geomorphology

R R . L L yru———_
(1) wER e @ vk T |
() TofeE e @) el fasm
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@ 4

@ 19

84  The industrial region known as black codﬁtxy IS :
(1)  Midland (2) Chicago — Gary
(3) Tokyo - Yakohama (4) Ruhr
WERDN & T Y Pregg et wer &
(D) Prde | (2) Brri - 44
G) AN ~ qmpremy @ =
85 The inter-relation between altitude and climate wag established by .
(1)  Hartshorne (2) Ratzel
(3) Humbolds (4) Ritter
ST UF WAy F - oty i famy o
() =9 (2) euw
3) & @ fex
DA41_A] 35
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86

87

838

The book 'Anthropogeography' was written by :

{1} Brunhes (2). Blache

(3) Elien Semple (4) Ratzel

THRTT gew R o

(1) = (2) =T

G) ww @ Yeiw

Which one of the recent trend in geography is an 1mportant contribution
of Burton ?

(1) Radical geography (2)  Quantitative geography

(3) Social well being (4) Behavioural geography

T T i A R weht % e ¥ et de <a 7
(1) Wwa e 2) WETeR i

() wARE wem @) oTE i

Who was the first to divide the circle into 360 ciegfees ?

( i) Anaxaminder (2) Hipparchus

(3) Posidonius (4) Herodotus
9 W 99 e fRE 360 Rl ¥ Rrwew fear?
(1)  TARIETEYT (2) Farwg
@) el | @) s
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"The state as an organism attached to the land" was the idea of :

(1) Ratzel (2) Semple
(3) Huntington (4) Blache
I, ¥ R ww e @ we fer fwg Rem e
T T |
i (1) Yo (2) G
.ﬁ' (3) e @ =

90 The concept of Landscape Morphology' was given by

I T T T N OO PR S

(1) Hartshorne @) Carl Saur

(3) Huntington (4) Humboldt

-3 S B daww A A -

f; (1) wEAN A (2) w| qE W )
@) W @ e

91 Which one of the following is not a correct match ?

(1) Concept of terrestrial unity - Blache .
(2) The Nature of geography - Huntington o :
(3) Tre_atise of th.e Heaven - Aristotle | ;
(#) Cultural Geography | - Carl Saur

frefafe & @ a9 @ v gAka o 98 §2

(1) wi¥fa wear W wew - S

() & =T A% FEIH S (o

3) e o & ¥ S (S |

(4) wighes i R
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92 Bap Boulders is related with one of the following period. -

(1}  Pre cambrian
(3) Cretaceous

T A B g ¥ mahyg 20

M 0 iy
(3) fwhimg

(2} Permo-carboniferous
(4) Eocene

@) WP - e
4) zsndm

93  Match List I with List I and select answer using code given below -

List I

(Aravalli Peaks)
(A) Achalgarh
(B) Nagpahar
(C) Kho
(D} Jaigarh
Code :

A ® ) D)
M G 0 G G
@ (v G G a6
G) Gi) @) () (i)
@ v @ @@ @

List II

(Height in metres)
@ 920

(i) 648

(i) 1380

(iv) 867

qﬁlﬁ@ﬂ%gﬁa%ﬁ'ammmwﬁﬁ&ﬁﬁﬁ
B |

T I

(s % v

(A) sEdE

B) TruEE

) =

(D) <mTe

ic.' :

Ay By © @O

) (i) @ G (v

@) Gv) Gii) G i)

() (i) (v @ i)

@) Gv) () (i) ()
DA4I_A]
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T 0

(G ez )
i 920
(i) 648
(i) 1380
(iv) 867

[ Contd..,




96

In which districts of Rajasthan, vertisols is_ found ?

(1) Jhalawar - Baran - {2) Jaipur — Dausa

(3;) Nagaur — Pajj C)) Ganganagar — Hanumangarh
TS TN F BT Y Ryl % ol i %2

(1) AMATE — TRy @) wEgT - g

() TR - g ) TR - sgurTs

Akal wood | fossil park is situated in which district ?
(1) Jaisalmer - (2)  Jodhpur

(3) Pali (4) Jalore

HT g Bk ok B R Y Rag 2 2

(1) Swex () gy
(3) urdt @ <R

Which one of the following districts produces maganese in Rajasthan 9

(1) Jodhpur (2) Banswara
(3) Sirohi (4) Rajsamand
ﬁﬂﬁrﬁgaﬁﬁﬁ?mﬁimﬂwﬁﬁ*ﬁﬁw%?
() sireyge 2 wivERT |

(3) @ 4) i
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98

99

In Rajasthan, which National Highway is a part of both, east-west COtTig,

and Golden Quadrant project 7
(1) NH 8§ . (2) NH 14
(3) NH 76 4 NH 79

Wﬁaaaﬂwvﬂwimﬁ,aﬁhagﬂaqﬁqﬁwaﬁ_wﬁm
BER, < &1 e %7 |

(1) NH 8 (2) NH 14

(3) NH 76 (4 NH 79

Which one is not a correct match ?

(1) Bhupal Sagar — Sugar (2) Dakan-Kotra — Rock-Phosphate
(3) Lakheri ~ Cement (4) Jaipurmetals — Electric wires
BT W T Eﬁf%m ¥ ?

(1) U™ I - 0 (2) THT B - UF-BRSe
() W@ - W= @) TR e - R ¥ A

The fault at which the Aravalli and the Vindhyan ranges are joint is
called : '

(1) Great Boundary fault (2} Main Boundary fault

- (3) Main Central fault (4) Delhi fault

mmﬁw%ﬁmwmwm%:
(1) w&™ 9 ¥y @@ T= d s
(3) Y= wegadl sy 4 Rwh b
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First 'Spice Park' of the state, established at

(1) Kota-Ramgunj Mandi (2) Jaipur
(3) Jodhpur (4) Udaipur
T o1 WA WEE Wb wE e Rear mar
(1) repwr 4@ @ R

(3) wiyR 4) sTagR

‘ 101 Which of the following districts in Rajasthan are having less than 100
population density in 2011 ¢

(1) Jaisaimer, Bikaner, Barmer

(2) Jaiselmer, Churu, Jodhpur

(3) Bikaner, Nagaur, Churu

(4) Chun, Bafrn_er, Jodhpur

T ¥ B ¥ R 2011 & 100 § F SFEEN gTT aw ¥ ?
(1) SRR, deiz, T

() SR, g%, Wy
3) FHAR, AR, q5

(4) g6, TR, Sugy

102 The lowest and highest growth of population during 2001-2011 was
recorded respectively in : '

(1) Dungarpur - Jaipur

(2) Hanumangarh — Dausa

(3) Banswara — Kota

(4) Ganganagar — Barmer
ﬁzom-zou%quamfbmqaférmmq%mﬁm

1) TP - wAw
Q) TR - d

() afEaE - W
“) 'mwr{ — FERT
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103 The total number of Agro-climatic regions in Rajasthan is :

104

105

a s @ 7

(G 10 @) 13

ToRa F FR Wwarg Wt @ wen ¥ o
M s | @ 7

(3) 10 ‘ (4) 13

Which is not an anthropogenic reason of desertification in Rajasthan ?
(1) Population pressure ' (2) Change in landuse pattern

(3) Overgrazing _(4) Technological development
TERY § 3 9 0% A5Wdia & AMaWiE SR 98 ¥ 7

(1) “FEE % 9 (2) 4t suEE gRe ¥ gRes
(3) st (4)h wafie R

Jagpura, Anandpur and Bhukiya are famous for :

(1) TIron ore (2) Gold. reserve
(3) Lead-Zinc (4) Rock phosphate
YA, A=Y T e vrﬁa@ 3

(1) g s (2) W 'qun

(3) SR 4) & B
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(1) Horizonta

(@) Uncertain

(3)  Anabatic (49 Katabatic

Eﬁmﬁmﬁﬁﬁmﬁaﬁvﬁ‘rﬁ?ﬁ%:
) 8Ryirg

G)  emad

2)  afife
@) e

108 Rocks ip the vicinity of Jaisalmer are

(1)  Malan; igneoys (2) Rialo series

(3)  Jurassic sandstone 4 Ajabgarh serjes

W ¥ Preadl o g b
D) wEr sty

3) ma@mw—(

(2) ma’rw
(4) Wﬁﬂaw
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109 Which of the following four districts of Rajasthan are having highest for,
area in Rajasthan ?

(1) Udaipur, Alwar, Banswara, Pratapgarh

(2) Udaipur, Baran, Karauli, Chittorgarh

(3) Chittorgarh, Bundi, Sirohi, Pratapgarh

(4) Sirohi, Kota, Bundi, Alwar
'Wﬁ%ﬁﬁ%wﬁﬁwﬁmm%ﬂaﬁ%?
(1) TEUYR, away, Sigas], Yaue

(2) SOy, i@, we, foderw

() fiems, 4@, Rl

@) R, w9, 9, ewae

110 Which one of the following is not a type of fold ?
(1) Recumbent (2) Ridge
(3) Monochnal (4) Isoclinal

freatafaa & 4 @9 @ 999 @& e W W ¥ °

(1) ufafea (2) w®
(3) & (4) "=
DA41_A] ' 44 | ~ [Contd...



111 Which one of the following pairs is not correctly matched 2
(1)  Slope decline theory — Davis
(2) Siope replacement theory — Penk
(3) Model of slope -evolution ~ Wood

(4)  Hillslope cycle theory - Strahler
Wﬁﬁ@ﬂ?ﬂ@%ﬂﬁ@@@ﬁﬁﬂﬁ%?
m o vt R - g

@ =m vk fmr - i

@) T yeieT Hew — qu

@) R oW W R - wwE

; gt L

112 Which University Department of Geography in India is spectalized in
agriculture geography ?

(1) Banaras Hindu University, Varanasi
(2) Delhi University, Defh;

() Aligarh Muslim University, Afigarh

) Punjab University, Chandigarh
Wﬁﬁa%f&sﬁﬁmmmﬁfﬂﬁﬁvmﬁmﬂﬁﬁﬁlﬁm%?
() oMy &g Rvr fawm, armow

(2) et frvaRem, Y

() oz gRem favafama, srire

() woE RryaRemm, 9dme

DA4I_A | | 45 [ Contd...



113

114

115

According to Mumford which stage indicates the climax of urban

development ?

(1) Metropolis (@ Necropolis

(3) Eopolis (4) Megapolis

T % Srgere T 4 o T R @ o ) qow 37
(1) i @ R

@) wif @ wTiRw

In Weber's theory which cost is considered as most powerful in plant
location ?

(1) Raw Material Cost (2) Transport Cost

(3) Labour Cost . {4) Market Cost

R & o A do fufy & R fow ore & oo ot simranal
qr §?

(1) =N u@ A (2) uiEeT ara

() &9 wrEa () YW WrE

"The population is optimum population in which maximum production is
possible". This thought is given by :

(1) Malthus | () Bog
(3) Robinson (4) Blaker

7% fer fewe fom 7

(1) wwa" @)
3) R @) =&
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116 Which one of the following is not an ancient town ?

(1)  Athens (2) Babyion
(3) Kosambi 4) Vienna
ﬁﬂ%ﬁﬁé-ﬁwmwmﬁwﬁ%?
1) T | ) afim
3) Far @ fom
\ 117 Which of the following is not related with urban influenced area ?
(1) Umland (2) Primate city
() City Region . (4) Urban Hinterland
ﬁwﬁﬁﬁa—mwmﬁaﬁwﬁwﬁ%?
(1) omdve 2 waltes Fr
() T Wy (4) TR ys yRy

118 The genetic classification of boundaries was given by :

(1) R. Hartshorne @ LRV, Prescott
(3) L. Carlson (4) AE. Moodie
Sorell B sngeifine witeor Re op -

(1) o e (2) W o . Fum
G) u @l @ uw i g
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grown ?
(1) Zone - (2) Zone - 11
(3) Zone - 1v

4) Zone - v .

(4) Haushofer

[H"E'qi’fﬂﬁﬁ‘ﬁgﬁaﬁm,wmmm?

(1) SkR= @ e
) =g 4  wigT
DA41_A ]
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121 Basic function of educational psychology for trainer ig :
(1) To teach the tricks of teaching
(2) Develop insight about different aspects of teaching

() Develop insight about the problems, behaviour and need of students

) Prepare research design on the evaluation of teaching process
w&wﬁh}%@ﬂwqﬂ’r&wwmmwm%:

. 1) = e N g Rramr |

\ ‘(2) ﬁm%%ﬁmw’f%uﬁrwvﬂmm
@) Bl & wRatel, AwErR T SR & WRY oras R we
“) ﬁmm%m%mmmwwﬁw

122 Which bond is related to the theoxy of connectionism ?
(1) Situations and Responses
(2) Stimulus and Respogses
3) Rgsponses and Reaction

(4)  Stimulus and Reaction
TR (Freeriar) % R & Sw v o 37
(1) Rafmrt o wgere

) T T wgex

() wgw T e

4 BTE?JW T whifsrar
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123 What is Internet O

(1) Hardware o (2) Software
(3) Programme (4)  Protocol networking
TG A ¥ 7 | |

ORRLEEN @ Wy

@) v | @ Vwi Yeaf

124 The commited téacher realizes that the amount and tjuality of learning is
determined to a constderable extent by :

(@) Classroom discipline

(b) Content analyéis:

(¢) Pupils interaction

(d) Reinforcement

Which among the following is the best choice ?

O ®md@ ) @@
() Only (a) 4) Only (¢

ﬁwmwmm%%a&wﬁw@mmﬁw
g o @ A & -

(&) =@ &7 s T
() g Rasdaer g
() BE & o= Bz

(d) YT 7O
= 4 ¥ dv—ar T qB\ Reww T
M ®F @ @ (@ 7 (@)
(3) %AW (a) (4) *Ia (c)
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a
i
4
F
3

useful for computer literate learners

(2) Learner learns with owp pace

(3) Learner Bets immediate feedback

(4)  Learner remains actijve Pparticipant

126 Psycho-analysis lays stress on the study of -
)] Consciousness
(2) Sub~oonsciousness

3) Unconsciousness

@ Muls consciousness

51
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127 Which of the following is not a basic condition of learning ?
(a) Contignity (b) Exposition
(c) Practice (d) Reinforcement

Select the correct answer using the codes given below -

(1) Only (2) | @ Only ®)

(®) ® and @ @ @ and ©

P & & @t otem @ orom o T 2

@ e | (b) s
© s @) g
e g W BF ¥ 9 o W T DR !
M ¥ @ @ ¥ o) |
@ O Q@ @ ®@E

128 Which effect does not match with the adolescent ?
(1) Non-seriousness about his study
(2) Greater facility in ab.stract reasoning and .log'ical' thoughts
(3) Greater power of concentration and wider memory span

(4) Interest in reading L

HA-T w1 feelerer ¥ gifa Y 2

(1) s % uR W T e

@) wod Bl o e e @ ol v
@) wEEm ¥ W FER oo e @
@ W ¥ wfu
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D Keep him with his peer group
()  Give him Occupational therapy

() send him to juvenile Jail

4 All the above

#)] Sensory-motor stage
(2) Pre-operationa] stage
(3) Formai Operational stage

4  Period of concrete Operations

DA41 A | | 53 [ Contd...



131 Which opﬁortum’ty is the need of "Adolescent" ?
(1) Debate (2) Argument
(3) Discussion (4) Above all

BT eEr Resid &) AR & 7
(1) =gt Q) TH
(3) =i @) SRw Wl

132 Which school of psychology lays, emphasis to make psychology as a pure

science ? |
(1)  Cognitivism " (2) Behaviourism

(3) Gastaltism (4) Constructivism

TSI W w-wr W, T B g Rew ¥ ey ¥ afe
B W T A ¥

() Yewear @) Fififram

133 Working with adolescents, particularly maladjusted which is not appropriate :

(1) Critical approach (2) Democratic approach

(3) Collective approach (4) Ideal approach

Fortitl & Wi & e fostw w0 & srmdife feoidt % amer W
g |

(1) oA JurH (2) vt Sarm

() wufkw surm (4 omasf worm
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7 134 Which s Indirect method of tension reduction ?

(1)  Analysig and decision 2) Removing the barriers

(3)  Sublimation (4  Substitution of other goals

ama’f#maﬂ%mmafa’ﬁzm%:
(1) fasswor w fyofy

(3) SarE @ H&ﬁﬁmmm

135 To Cooperate the Adolescent it g essential -

(1) Inspire - (2) Indicate his mistakes

(3) Criticise him (4)  Negative behavioyr
'%aﬁvamﬁmﬁa#aﬂaﬁvéﬁ%ﬁﬂqma%%:
(1) ooy

(G) o Wy

136 Which of the following is nt a fundamenta] element of teaching mode] 9

(1) Social system () Communication system

(3)  Support system

55 [Contd...
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137 Which is the part of the 'Hardware technology' ?
(@ Magic Lantern (b) Learning package
(c) VCR (d) Overhead Projector (OHP)

Give answer 10 choose Jollowing -

(1) Only (v) @ @, (c) and (d)
B) (@ and (b) @ () and (o)
Bt % & B g o e R @
@ W qwsr ®) st Y
©) Hdrem | d) @R ¥= Hex
ﬁn# STENT 9T gov & - |
1 ®&& @) @ @, ©w@ @)

®) @ o) @ O

138 Guidance should pe given :
(1) When there is problem
(2) During school iife |
(3) At the time of subject selection
@) Life long
T R s Ry :
1) ' W w
2) frmrlt sfem ¥
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learning ?
(1) Intelligence

(3}  Perception

RIGUNE i
0 T
(3)  usfieer

140 Al formal and non formal
characteristic -

(1)  Structured

(3) Discrimination

2) Personality

(4)  Experience

%ﬁﬁﬁ*ﬂfwm@ﬁ%aﬁéﬂzﬁ?@ﬁﬂﬁmﬁm

) =fe

) o

Communication inclyde which of the following

(2)  Unstructured

@) Similarity

weﬂwﬂwqﬁ@?ﬂumﬁmawffﬁwﬁ«ﬁgﬁwﬁﬁam%:

O e —
(3) Fradrs

(2) HETTTEar
@ aurEE

141 Which of the following is called Educationai technology-3 9

(1)  Teaching machine
()  System analysis
Frafifes ¥ 3 ey e
(1) frer wgi

() worel fyscraer

DA4I_A]

2 Teaching strategy

(4) None of the above
T3 BE W T

@) foewr oz =

@ Hw ¥ ¥ 9
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142 Which of the following is not g type of learning according to Rober'-t_____ |

Gagne ?
(1)  Insight learning (2) Signal learning
(3) Chain learning (4) Verbal Association learning

__Kﬁzm..ﬂ%%agmﬁwﬁﬁﬁw—mmmwmﬁﬁ%?

143

144

(1) s=ERe aftmm (2) d%d o .

3) guwm sty @ e wead afiprm

Centre of educationa] psychology is :

(1) Child (2) Teacher

(3) Teaching Method (4) Curricuium

R wifmm @ 4 2 |
M) T @ frw | ]
(3) e fafy (4) STy | !

called as -

(1) Interest (2) Opinion

() Attitude | () * Motivation
Wawﬁaawféasmﬁﬁﬁwﬁmmaﬁmaﬂﬁ,wmmﬁ ;
(1) sifiwafy @ s

@) efrgfy @ o
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In which stage feeling of self-respect is found most 9
(1) Infancy

2 Chﬁdhood

3) Adollesc.ence |

(4)  Adulthood

%amﬁw—wqﬁmwuaﬁaﬁmﬁmﬁr%?

(1) .a"rsl‘cnaw
(@) TR
®) v
(4) =roEE

146 Which statement is wrong with regards to constructivism ?
(1) Knowledge can-be constructed by learner,
(2) Teacher is responsible for transmitting knowledge.
(3) Learner is tesponsible and active for own learning.

4) New knowledgo can be constructed on the basis of prior knowledge,
) sl o w g w a wwa &)

) am%wiammmhaﬁmmw%l

o a&iwaﬁas'aﬁiﬁﬁmwmaﬂr

@) Hﬁﬂ?aﬁwwqﬁﬁm%'enmwém%l

DA41_A] 59 [ Contd..,



147 Achievement of students depend upon
(1) Caste, Intelligence, motivation, self concept
(2) Self-concept, Intelligence, Interest, Motivation
(3) Sex, Intelligence, Interest, Motivation

(4)  Motivation, Intelligence, Body structure, Interest
Bl @ feafy felk @ ¥

(1) wnfy, gfs, sfnon, i

@) w-yeE, g, ey, i

(3 Fr, gfe, sl aftron

) afwrm, 3fs, e TEe, afwRy

148 Understanding of mental health concept enables a teacher in :
(1) Interaction with other stud.er.lts. "
(2)  Selecting appropriate teaching strategy
3) Deveioping deeper insight into the unwanted behaviour of learner

(4) Clarifying the concepts of subje_ct matter i

Ww%wﬁwﬁmwmwﬁmm%:
() o faenfifai & ome: e & o

(2) -owgaa R spea @we ¥
3) ﬁmﬁfﬁ%m@awﬁnﬁ@faﬁamﬁ
(@) Fo-ag & dvam adw o
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(3) Groupsize ;s N0t important

@) Al of the above

(%) The Community

(3) The teacher himgelr

e Y

(4) The Student
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